Section 5.1

8. f is not one-to-one
-3X+1
28, i) =—22
X
2X
30. f1'(x)=
() X—4
32 ()= X;SZ

46. a. The graphs intersect on the liney = x
b. D=[1,10],R=][0, 9]
c. D;=10,9], R; =1, 10]

Section 5.2

2. x=2

42. $4712.98
46. $597.81

Section 5.3
2. a. fisincreasing, y-int = 1, and does not cross the
X-axis
b. fisincreasing and y-int = 2, does not cross the
X-axis
8. =~$12,037.78

Section 5.4
1
2. a log,243=5 b. log;,—=-4
03 03 81
c. log;d=p  d. log;(100p)=x

P 1
e. log,—=-2x f. lo —=t
U3 = Jo.9 5

4. a 3'=81 b 4% -—1
256
c. vi=w d. 6°=2x-1
3
e. 4°%=p f. a*=343
18. a 7 b. -6 c. 5
2
d. -3 e. 8 f. =
3
g. 5e
3
20. x=—7=
X773
22. No solution (x=-1 is extraneous)
1
28. x=<=

8
48.  f(x)=F(x+3)
64. the year 2021
66. approx. 23.8 years

Section 5.5
4.  5log, y+2log, w—4log, x—3log, z

1 1
6. 2Iogy—4|ogx—3logz

b. Iog{%yj

10. a. log,(3xz)

c. Iog4W

14. logy*

13
18. x=—
3

22. Xx= 3
15

46. fisdecreasing, x-int =1 and does not cross the y-
axis

Section 5.6
x =193 79
log4

. log1600 _  log1600

12. ~-6.34

18. x=——=154

52. t=

56. a. 7.21hr. b. 3.11hr.




